Solutions to smp-6894-3/RPGJ

Worksheet
05/16/2018
Free on dw-math.com
Problem quickname: 6894
L) Quick:
Calculate the result.
a) 140600 <+ 7400 = 19 b) 672400 < 8200 = 82
c¢) 324000 = 54000 = 6 d) 212000 =+ 5300 = 40
e) 532800 = 7400 = 72 f) 475700 = 7100 = 67 g) 549400 + 6700 = 82
h) 4608000 <+ 64000 = 72 i) 7372000 = 97000 = 76
j) 704000 <+ 8800 = 80
2) caos
Calculate the result.
a) 240 - 10 =24 b) 7700 + 100 = 77 ¢) 6500 <+ 100 = 65
d) 180 =10 =18 e) 710 +-10=T1 f) 4800 = 100 = 48
g) 730 10 =173 h) 1900 = 100 = 19 i) 980 = 10 = 98
j) 400 + 10 =40
3) chos
Calculate the result.
a) 576000 + 18000 = 32 b) 141900 =+ 3300 = 43
¢) 2400000 + 30000 = 80 d) 47400 + 790 = 60 e) 817000 = 8600 = 95
f) 28420 + 980 = 29 g) 48000 =+ 1600 = 30 h) 213200 = 4100 = 52
i) 131600 <+ 1400 = 94 j) 22040 = 380 = 58
4) chos
Calculate the result.
a) 4000 = 1000 =4 b) 5700 = 100 = 57 ¢) 59000 =+ 1000 = 59
d) 3700 <+ 100 = 37 e) 41000 + 1000 = 41 f) 6400 < 100 = 64
g) 260000 <+ 10000 = 26 h) 4200 + 100 = 42 i) 7000 + 1000 =7
j) 3200 + 100 = 32
Good Luck!

www.dw-math.com Page ]. smp-6894-3/RPGJ



